2M: 9
P

Sl o

SH B HRA(BH) - HRAY - BLS 04 &k o p[E-Ll HRE2
= AHE 9,805, 171 9,939,074 A 133,903
= 1,019,780 1,161,000 A 141,220
s 2,949,000 2,949,000 0
Jl 60,000 60,000 0
& 15,210 15,210 0
£ 483,048 433,048 50,000
i 5,278,133 5,320,816 A42,683
o4t WY A5t 9,784,207 9,918,110 133,903
= 1,019,780 1,161,000 AN 141,220
Fas 2,949,000 2,949,000 0
Jl 60,000 60,000 0
& 15,210 15,210 0
< 483,048 433,048 50,000
s 5,257,169 5,299,852 N42,683
HPAS DIBAIE &5 3,398,785 3,298,785 100,000
ras 1,777,000 1,777,000 0
== 264,143 214,143 50,000
i 1,357,642 1,307,642 50,000
QAF Y2 L E 2tel 382,500 382,500 0
401 AEHIZLSYI 382,500 382,500 0
04 Al&H| 379,962 379,962 0
O SMLAX Xz TH(RIIHH) 0 91,834 N91,834
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S YA
BH: serastelo] FM A3
Sl OYAS JIPAIL BB (t9l: @2
SN O(SH) - NRAY - BE2 Ofl &k 1= HRZ2
O g=gAm MYz TF(2I|HY) 91,834 0 91,834
06 AIZS0HHI 2,538 2,538 0
O SHYAT NP2 TH(LI|HY) 0 666 2666
O Y=YAE AY2 TH(RIIHZ) 666 0 666
HHINBAIE (R w) X 100,000 0 100,000
S 50,000 0 50,000
s 50,000 0 50,000
401 AlIEHIZ 20 100,000 0 100,000
== 50,000 0 50,000
s 50,000 0 50,000
04 Al&H| 100,000 0 100,000
O &l0t, ofE F&W MAEALX 50,000,000& = 27| 100,000 0 100,000
S 50,000 0 50,000
= 50,000 0 50,000
Oledolel WA L3 1,470,133 1,460,536 9,597
= 752,780 750,000 2,780
s 75,000 75,000 0
S 12,000 12,000 0
s 630,353 623,536 6,817
Odoie Margts X3 341,317 334,500 6,817
301 LEtEAS 6,817 0 6,817
12 JIEtE4 =S 6,817 0 6,817
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B serastelo] FM A3l
Sl OfE0{eiol M U3l (2@
SH-HH . C(E) - HPAY - BES Ofl &k 1= HRZ2
O 0{YE BIHRE RIGSEES XY 36.95% + 184,492 6.817 0 6.817
0I5t REAOIM LRIF 2,780 0 2,780
2 2,780 0 2,780
202 01t 2,780 0 2,780
2 2,780 0 2,780
01 =2hoid] 2,780 0 2,780
O Q1050 RX0M LRI Y| 10,3732« 268% 2,780 0 2,780
2 2,780 0 2,780
SUBSAAL LT A 1,135,600 1,159,600 24,000
< 74,000 74,000 0
2 1,061,600 1,085,600 24,000
IR AHE A ALY 656,000 680,000 24,000
402 BIRATHEO0IF 656,000 680,000 24,000
01 oIRIERE 656,000 680,000 /24,000
O HEAZA A (0IAE) 2% 76,000, 0002 76,000 100,000 /24,000
OHIEH U K22 1,323,732 1,331,232 AT,500
2 267,000 267,000 0
2 221,000 221,000 0
| 60,000 60,000 0
= 15,210 15,210 0
= 81,957 81,957 0
2 678,565 686, 065 AT,500
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SN L atE
HE: iAol Am 235
el OIFEA L e (e &
S (SAH) - HRAY - BES Off AF oK B szt
NA=SANY ZFLE BHHEARY 2,400 9,900 AT,500
101 Q244 0 3,350 13,350
10 JIZH22AUSE4 0 3,350 A3,350
O HU=2RAY EHE HelgEA AU (0AEY) 0 3,350 A3,350
201 LBr29Y| 0 4,150 ~4,150
01 At22t2lH 0 4,150 A4, 150
O LBt2H| (0 A=) 0 3,150 A3,150
— HEESAANAETLEEN LN 2L S 0 1,650 A1,650
— HUEAYFTLHEW LN 2HEASY 0 1,500 A1,500
O 2 & di(oazz) 0 1,000 21,000
— A=A =X 0 1,000 A1,000
FAE RE L I3 1,376,800 1,588,800 A212,000
= 0 144,000 A 144,000
FE; 570,000 570,000 0
[ 36,000 36,000 0
z 770,800 838,800 68,000
M2 RS A X 131,800 91,800 40,000
402 QI2HXHE0| ™ 131,800 91,800 40,000
01 QI2Xp=EE =X 131,800 91,800 40,000
O #MESSHAY 41 50,000,0008! * 1424 = 80/100 40,000 0 40,000
2 AALE DR ALY 0 252,000 A 252,000
= 0 144,000 A 144,000
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